
PMBDS-29325-A

Key Number/Item Description/Quantity/Part Number

1
2
3
4

5
6
7
8

6’ Wooden Handle
1/4-20 X 1-1/2” Hex Head Cap Screw
1/4-20 Hex Nut
Bunker Debris Sieve Head 
    1/4” Opening With Mounting Bracket
    1/2” Opening With Mounting Bracket
Mounting Bracket
1/4-20 X 1/2” Hex Head Cap Screw
1/4” Flat Washer
1/4-20 Lock Nut

29301

29351
29326

1
1
2
1

1
2
2
2

1

2,3

5
6,7,8

4

BUNKER DEBRIS SIEVE
29325, 29350

6620 Nordic Drive
Cedar Falls, Iowa  50613  USA
Phone: 319.266.2638
Fax: 319.266.9627


